Solve this equation for matrix X.

47 51
-78 104

18 -33
9 85

_X:

Add X to both sides and subtract the matrix on the right to get it to the left.

You would end up with this equation:

47 51 18 33 | _ X
78 104 9 85

Now use matrix subtraction to get:

_ [z ey
X= Rl \"\}

12 -27
Given A| 9 15
-34 -50
48 -23
What is matrix Y if Skl I
0 18
By adding Y to both sides and subtracting the
matrix on the right side of the equation you get
the following equation:
48 -23 12 -27 48 -23
A- 57 -2 =Y — 9 15 |—| 57 -2
0 18 -34 -50 0 18

3 Y
AEYA
-3 b

¥

Find the value of each variable.

40 33 x+5 | | 3z+4 33 84
4y -7 100 -75 30 8-4w -75

Since the two matrices are equal this means

corresponding elements must be equal

4o =2z +Y Xr5= §1 wx=77
2=l
197 =3¢ Y= (0D

Find the value of each variable.

74| | x 13| [ 32
-10 y 6 4 w44

e _; 7/5 —E

W= -lb

set

corresponding 74+ X = 23 W = 1l
elements equal 31"4 - Ll“l we get X _ [(0
2 = =0

2~ -



You can now finish Hwk #22 Sec4-2
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Problems 3,5,7,10, 11, 16, 19, 20, 32

Enter the following matrices on the calculator.

56 3 6 - =
A B 10 3 9 c 6 -9 1
0 -9 12 17 -5 1 20 -13 49
Perform this matrix operation on the calculator: A +B
After these steps you'll

i -1 .
200, — NAME 1:[A] see the following on the

.. screen.

[A]+(B]

3. 2ND —NAME  2:[B]
press ENTER
to get the result.

s a Iz
11— 13

Matrices using the graphing calculator.
To enter a matrix on a calculator:

1. 2ND

2. Move up/down to pick the matrix you want to use

then

3. Enter the dimensions for your matrix

— EDIT

4. Enter the data in the matrix
quit
5. When done Editing you must press
This exits the editing mode and takes you back to the home screen

6 -9 -1
A 56 3 B 10 3 9 c
0 9 12 17 -5 1 20 -13 49

Find each
1. B-C

2,
[ E 4R
eenl )
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S50 %b Bl 2 U5
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6 -9 -1
A D 6 3 B 10 3 9 c
0 -9 12 17 -5 1 20 -13 49
Find this matrix: 2A

_\10 12 6
2IAI= Eo -18 24}

this multiplies all elements in matrix A by 2.



